


































































































































































































15. If (1.06)r = 2,, then x =

(a) Jog2- Jogl.06 (b) 2 106 (c) Jog0.94 d log2
( _) log 1.06 (e) 1.89

Section IV. Questions related to MATH 1321, Trigonometry. If they present any difficulty, you should review Trigonometry 
topics before taking the placement examination if you hope to byp9ss MATH 1321. 

16. 5-ir/12 radians=
(a) (5/12) 0 (b) 1.3° 

17. Based on the pictured triangle, b =

�-�_5° ____ 30 __
(a) 2 (b) y'2

18. If sinB = 4/5 and 11"/2 < B < 11" then tanB =
(a) 4/3

19. -cos(Sin-1x) =
(a) \/I - x2 

120. 1 . 8 -sm 
(a) 0

1 
1 + sinB 

(b) -4/3

(b) cos(-90° - x)

= 

(b) -2csc8

(c) 75° (d) 60° (e) 45° 

( c) 1.5 (d) 2v'2 (e) 2/../3

(c) 3/4 (d) -3/4 (e) 3/5

(c) 1/x (d) 1 (e) X

(c)sec2 B {d) 2cosBcsc2 8 (e) 2sinBsec2 8

Section V. Questions related to MATH 1350, Analytic Geometry. If they present any difficulty, you should re)fiew Analytic 
Geo,metry topics before Jaking the placement examination if you hope to bypass MATH 1350. 

21. The equation of the perpendicular bisector of the segment with endpoints (7, -2) and (1, 6) is
(a) 3x - 4y = 4 (b) 4x - 3y = 10 (c) 4x + 3y = 22 (d) 3x + 4y = 20 (e) 4x + 3y = 14

22. The distance between (-2, -3) and (6, 1) is
(a) 2v'2 (b) 2-./5 (c) 4../5

23. An equation for the circle of radius 4 centered at (3, -2) is

( d) 4v'2 (e) v'48

(a)x2 +y2+6x-4y=3 (b):z:2 +y2-6x+4y=-9 ( c) x2 - _y
2 

+ 6x + 4y = 11
(d) x2 - y2 - 6x - 4y = 11 (e) x2 + y2 - 6x + 4y = 3

2_4. The graph of y .= x2 +4 is

c} 

25. An equation of the ellipse with foci at (0, ±4) and a vertex at (0, 6) is

·d)

x2 y2 y2 x2 x2 y2 , x2 y2 • 
(a) 36 - 20 = 

1 (b) 20 - 36 = 
1 (c) 36 + 20 = 

1 (d) 20 + 36 = 
1

Solutions: 
l.d 2.a 3.e 4.c
14.b 15.d 16.c 17.b

5.b 6.a 7.b
18.b 19.a 20.e

88 

8.e 9.c 10.d 11.a
21.a 22.c 23.e 24.b

12.e
25.d

13.c






